Ynpyruii 3KBUBaJIEeHT

B Touke HecTaGUNBHOCTH 2-TO TOPSiAKA HAHTH YNpyTrHH 3KBHBajeHT (G, Cpeibl B

cooTHoteHun Ao = G, Ap.
Hanpsixenue o u mopyibp G, — B MIla.

Bapuant 1
C3.
pp/(2—p)=Ash(20), p=1.05, 0=2.

Bapuant 2
C3.
ppe’P=Ac/(9—0), p=0.6, o=4.

Bapuanr 3
C3.
psh(16p)=Ash(20), p=0.2, 0=2.

Bapuanr 4
C3.
ppb=Ac7, p=0.6, 0=2.

Bapuanr 5
C3.
ppe*P=Ae?”, p=0.6.

Bapuaur 6
C3.
pe'?P=Ac/(T—0), o=4.

Bapuanr 7
C3.
petP=Ac/(T—0), o=4.

Bapuanr 8
C3.
pp/(1—p)=A(303—0), p=0.58, 0=3.

Bapuant 9
C3.
ppe*P=A(40*—0), p=0.6, 0=2.

Bapuant 10
C3.
pp/(1—p)=Ac®, p=0.68, o=A4.

Bapuant 11
C3.
psh(12p)=Ac/(5—0), p=0.6, 0=3.

Bapuant 12
C3.
pp'=Ac/(3—0), p=0.4, 0=2.

Bapuanr 13
C3.
petP=Ash(20), o=4.

Bapuanr 14
C3.
pet?P=Ash(20), 0=3.

Bapuant 15
Cc3.
pp/(2—p)=A(40*—0), p=0.85, 0=2.

Bapuanr 16
C3.
ppe’P=Ash(20), p=0.6, 0=3.

Bapuant 17
C3.
psh(16p)=Ae??, p=0.2.

Bapuanr 18
C3.
pp®=Ash(20), p=0.6, 0=2.

Bapuant 19
C3.
petP=Ash(20), o=4.

Bapuanr 20
C3.
ppe3P=Ac3, p=0.6, 0=3.

Bapuant 21
C3.
pp/(1—p)=Ash(20), p=0.58, o=4.

Bapuanr 22
C3.
psh(16p)=Ac/(4—0), p=0.2, 0=2.




Bapuaunr 23
C3.
pp/(1—-p)=Ae*?, p=0.68.

Bapuanr 24

C3.
ppeSP=Ac/(7—0), p=0.2, 0=2.

Bapuaur 25
C3.

p612p:A620"

Bapuanr 26

C3.
ppe®P=A(50°—0), p=0.2, 0=2.

Bapuant 27
C3.

psh(8p)=Ash(20), p=0.4, 0=4.

Bapuanr 28

C3.
psh(12p)=Ash(20), p=0.2, o=4.

Bapuanr 29

C3.
ppe*P=Ac/(9—0), p=0.6, o=4.

Bapuaur 30
C3.
ppe3P=Ae??, p=0.6.




OtBeThl

G G2

1 2.0515 | 0.9540
2 19.1844 11.9267
3 | 15.9890 8.0747
4 5.1105 | 3.4609
5 5.3956 3.1044
6 41.1429 | 20.5714
7 | 54.8571 | 27.4286
8 8.5665 | 3.4409
9 5.2682 3.0310
10 8.3861 2.6433
11 | 28.8000 | 14.4000
12 21.3188 13.6812
13 | 16.0000 | 8.0000
14 | 11.9999 5.9999
15 1.8141 1.1824
16 6.4433 3.5566
17 | 15.9997 | 8.0802
18 8.9374 6.0526
19 | 16.0000 | 8.0000
20 8.6330 5.3670
21 4.3931 1.7645
22 | 31.9995 | 16.1603
23 5.2413 1.6521
24 | 26.8447 | 20.2982
25 | 12.0000 | 6.0000
26 9.3665 6.0771
27 7.9999 4.0401
28 | 11.9948 | 6.3040
29 | 23.9806 | 13.7971
30 4.3165 2.6835




